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Subtraction – 3 
1. Julie got 2770 apples with her. She gave 1520 apples to her friends and 537 apples to teachers. How 
many apples left with her? 

2. 75 + 829 + 1272 – 1664 = ________. 

3. By how much is 2382 more than 1798. 

4.  

 

 

5.  

 

 

6. A shop has 435 kg of onions. 129 kg onions were sold, and 12 kg onions were rotten. How many kg of 
onions were available in the shop? 

7. There are 750 students in a school. 346 girls study in that school. 12 more boys join the school. What 
is the total number of boys in that school? 

8. Smallest 3-digit number - _____ = Largest 2-digit number. 

9. Add 324 and 1005 and subtract 299.  

10. A showroom has 529 motorbikes. 121 more motorbikes received, and 236 motorbikes were sold. 
How many motorbikes are left in the showroom? 

11. Take away 674 from 1500. 

12. From 786 take away 239. 

13. A train carried 1274 passengers on first day. On second day it carried 1800 passengers. How many 
more passengers did it carry on the second day? 

14.   

 

 

15.  

  

Th H T O 
 6  8 5 

-  5 2 2 7 
 8 5 8 

Th H T O 
 8 8 7 9 

-  4  4 7 
4 3 3 2 

Th H T O 
 4 9  7 

-  1 8 5 9 
 3 1 0 8 

Th H T O 
 6 5 7 8 

-  4 5 9 9 
 1   7 9 


